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1) ABC is a triangle in which 
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. D is a point on AC, 
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[image: image5.wmf]5

=

CD

cm. Find

a) BD,
b) 
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c) 
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d) 
[image: image8.wmf]ADB

Ð

sin

.

2) In the given diagram, 
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. By using the given information as much as possible, find

a) the value of 
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b) the value of x2,
c) the area of 
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3) In the given diagram, Q is due south of S and R is due east of Q. If 
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 , find

a) QR,
b) 
[image: image21.wmf]SPQ

Ð

,

c) the bearing of Q from P,

d) the area of 
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.

4) A, B, C and D are four points on an airfield. B is due east of D as shown in the diagram. 
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a) 
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,

b) the bearing of B from A,

c) the area of the land ABCD,

d) the perpendicular distance from D to BC.

5) The figure shows triangle ABC and triangle ACD right-angled at 
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a) Given that 
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, find 
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b) Given further that 
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7

=

AB

, calculate AC.

c) Calculate AD.

d) Find the area of triangle ACD.

6) VABCD is a solid pyramid with vertex V, standing on a square, horizontal base ABCD. X, which is the point of intersection of the diagonals, is vertically below V. The mid-point of BC is M, 
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cm. Find

a) the length of VM,

b) 
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,

c) 
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,

d) the total surface area of the pyramid.

7) The figure shows a buoy P floating on water due north of another buoy Q. Ann, on top of a cliff ABCD, 80m high is at A, vertically above D. D, P and Q are lying on a straight line. The angles of depression of P and Q from A are 65o and 25o respectively.

a) Calculate the distance between P and the cliff.

b) Calculate the distance between buoys P and Q.

c) Ann walks 120m due east to B. Calculate

i) PC, where C is vertically below B,

ii) the angle of elevation for B from P,

iii) the bearing of C from P.
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